Puzzle 8888 - Friday, 18 April, 2014 - Difficulty 3

11 12 e 13 ‘ 141
71443121 |5]19|6]38:
:173"’”:::::,: i Lg’,iiiiiﬁ{éf::i’:1727:::,: | i ‘éf::::f:::,
6|29 |37 8]4|5]|1
i T To 1
5| 8 1}61‘391334‘1‘7 3| 2
é:]"" %’3’:::::; g,iiii,ffffff,f::fff, i’{"”fff:;} :{4’”’
81761 |5]3]2]|9]4
”””” 13 10 (3
419 (5|86 (2|17 ]3
2 18 | e | 8 _ 5 | |1
31129475 |8|6
i :l;‘::::ff::::,‘ i : ‘:{é:ii ! | %f:::f:f:::,: |
96 |87 2} 1f3|4]5
7 11 ) i 141 10 |
2|5 7143 ]6)811]9;
4 9 1 151 9 1
1 ]3)4)5)819]1672 7

Copyright (c) www.dailykillersudoku.com




